Chapter 13  Sections 13.1–13.3    Even Answers Mostly
Section 13.1  Class Exercises

1. 5,8,11,14,17   2. 0,3,8,15,24   3. -1,3,-5,7,-9   4. -4,-9,-14,-19,-24   5. an = 2n   6. an = n2   7. an = 
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8. an = 3   9. 10,14,18,22   10. 6,9,13,18   11. 0,-2,-4,-6   12. 
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   13. a1 = 2, an = an-1 + 2  

14. a1 = 1, an = an-1 + 2   15. an = 3n    16. an = n2 vs bn = n2 + (n-1)(n-2)(n-3)(n-4)
Section 13.1 Practice Exercises

2. -1,1,-1,1,-1   4. 
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   6. 
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   8. an = -2n – 1   10. an = (0.1)n   12. 3,4,7,11   
14. a1 = 0.1, an = .1an-1   16. a1 = 3, an = -an-1   18. Uh…do you really want to keep a math journal??? 

20. Must be given two initial terms.  22. an = 6n  24. an = (-1)n-1(9)  26. 10,3.1623,1.7783,1.3335,1.1548 
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28. 0,.6931,1.0986,1.3863,1.6094   
30. a1 = 55, an = an-1​ + 5(n + 2)   
31.  even function, rational function, asymptote: y = 0
32. (1,1/2), (2,1/5), (3,1/10),…, (10,1/101) 

33. The sequence of ordered pairs is a subset of #31

34. 2,3,5,11,13,17,19,23,29 
35. $216.49, $234.33, $253.65, $274.56, $297.19,

      $321.69, $348.20, $376.91, $407.98, $441.61

36. a1 = 3, an = an-1 + 3, 
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   37. Input: N, Let a1 = 1 and a2 = 1, Print a1, a2, For n = 1 to N-2, an = a1 + a2, Print an, let a2 = a1 and an = a2, Next n, End.  38. 1,1,2,3,5,8,13,21 – Fibonacci 
39. L1 = 120,000, L2 = 360,000, Ln = ½ (L1 + L2), 120,000, 360,000, 240,000, 300,000, 270,000, 285,000 
40. b1 = 200 and bn = 2bn-1, b5 = 3200   41. h1 = 6, hn = 1.12hn-1​, 6, 6.72,7.5264, 8.4296, 9.4411, 10.5741, 11.8429, 13.2641, 14.8558, 16.6385   42. Sorry, I can’t help you here with Microsoft’s Excel spreadsheet.
43. an = Fn-1 + Fn+1   44. See note to #42!   45. 1 + i, 2i, -4, 16, 256   
46. 
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Recall Pascal's ? 1 + 3 + 3 + 1 1  3 + 3
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47. 1/30

Review – 13.1

1. (a + bi)(a – bi) = a2 – b2i2 = a2 + b2 (real)   2. 14   3. 7   4. circle   5. ellipse  6. ¾ or 4/3
Section 13.2  Class Exercises

1. arithmetic, 2   2. neither   3. arithmetic, 13   4. geometric, 3   5. geometric, -6   6. arithmetic, -.3

7. neither   8. geometric, .8   9. an = 13n – 8, 148   10. an = 5(3n-1), 885,735   11. an = 2(-6)n-1, -725,594,112 

12. an = 9(.8)n-1, .7731   13. 9,16,23,30   14. an = 4n – 5   15. 12,48,192,768   16. 
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   17. none   

18. 
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  19. If d > 0, the sequence is increasing (vs decreasing for d < 0)

Section 13.2  Practice Exercises

2. geometric, 3   4. neither   6. neither   8. geometric, .1   9. arithmetic sequences are basically subsets of linear functions while geometric sequences are subsets of exponential (growth or decay) functions

10. an = 2n + 60, 92   12. an = (-1/2)n-1, -.0030518   14. 54,58,62   16. an = 28 + (n – 1)(-19/3)  
18. 100.11 mg   19. [image: image10.jpg]


    20. 4,3,5,1,9     21. [image: image11.jpg]



22. Let the common difference = d, then b = a + d and c = a + 2d. Then (a + c)/2 = (2a + 2d)/2 = a + d = b   24. -12,-48,-192,-768   26. If there are an odd number of terms then there will be an even number of multiplications. If the first term is positive(negative), then after an even number of multiplication of r < 0, the last term will also be positive(negative).   28. 32   30. an = 56,000(1.05)n-1   32. $33,200   34. 5.1291 m
36. 3 mi   38. 1024   39. 
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  40. y = dx + (a1 – d) 
41. Let the common difference = d, then an+1 + c – (an + c) = an+1 – an = d also

42. Let d1 and d2 be the two common differences, then an+1 + bn+1 – (an + bn) = d1 + d2 = D (constant)

43. Let the common ratio = r, then can+1/can = r also.

44. Let the common ratio = r, then (an+1)2/(an)2 = r2 which is a constant also.

45. 5,9,13 and 29,9,-11   46. 25

Challenge 13.2   35/4
Section 13.3  Class Exercises
1. 
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   5. 55   6. 735   7. 171   8. 88   9. 97,655   10. -1.1538
11. 288   12. 
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   13. 2N+1 – 1   

14. Check the ratio (or differences) of consecutive terms to see if there is a common value.

15. $20,822.95

Section 13.3  Practice Exercises

2. 
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   8. -380   10. 56   12. 160   14. -.769   16. 48.5   18. -98.516 
20. 2.25   22. $2447.88   23. Graph: y = 7|x – 12/7| with steepness 7/1 and right shift of 12/7 units.

24. $10.23   26. 496,907,841.1   28. -770   30. 767.4753   32. 4950   34. $25,200  36. 44.3 ft  

38. $12,197.56   39. 26,150,833,000   40. Zeno said you could never get from A to B (a distance of ‘d’) since you first had to travel d/2, then d/4 then d/8… an infinite # of distances… Wait! That’s a geometric sequence! Hmm… oh well…   41. & 42. Programming… hmm… only have 4 more chapters of answers to type up… and I want to enjoy my summer… sorry folks!   44. 11   46. .9999995232    48. 
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50. $14,025.52 & $71,532.91   52. 2,147,483,647
Review  13.3
1. 15x2 – 47x + 28 = 0   2. x2 – 6x + 25 = 0   3. (8,9)   4. 6   5. 625   6. 5
�
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